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Analogy Question for SSC Exams, CGL Tier 1, CHSL at 
Smartkeeda 
Analogy Quiz 20 
 
Directions: In each of the following questions, there is some relationship between the two terms to the 
left of : : and the same relationship holds between the two terms to its right. Also, in each question, one 
term either to the right of : : or to the left of it is missing. This term is given as one of the alternatives 
given below each question. Find out this term. 
 
1. MA.D. : JXA. :: RUN : ? 

A. OSQ    B. PRJ    C. UXQ    D. ORK 

 

2. B.JC.I : JB.IC. :: C.XD.W : ? 

A. JC.D.U   B. B.C.JU   C. EVFU   D. XC.WD. 

 

3. SHI : RIJ :: QJK : ? 

A. TD.E    B. PKL    C. UGH    D. VPQ 

 

4. HC.M : FA.K :: SGD. : ?  

A. ESQ     B. GES    C. QEB.    D. QIB. 

 

5. B.FG : EIJ :: RVW : ? 

A. UWY   B. UYZ    C. SWX    D. QUV 

 

6. KPUF : PUFP : : MRWB. : ? 

A. RWB.M   B. B.MRB.   C. RWB.R   D. RWB.P 

 

7. MIRROR : 90 : : TERROR : ? 

A. 90    B. 93    C. 94    D. 91 

 

8. RED. : WED. : : C.A.T : ? 

A. WA.T   B. TA.C    C. HA.T    D. MA.T 

 

9. RGS : NB.M : : KUB. : ? 

A. PFW    B. EPW    C. EQV    D. WPF 

 

10. D.A. : HK : : RO : ? 

A. MR    B. KM    C. LO    D. SP  

http://www.smartkeeda.com/
https://testzone.smartkeeda.com/
https://testzone.smartkeeda.com/
https://t.me/smartkeedaofficial


www.smartkeeda.com   |  testzone.smartkeeda.com/# 

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET | LIC | Railways | CLAT | RJS 
Join us 

 

Correct Answer: 

 

 

 

 

Explanation: 

 
1.  

M A D 
↓ ↓ ↓ 
–3 –3 –3 
↓ ↓ ↓ 
J X A 

 
Similarly, 
 

R U N 
↓ ↓ ↓ 
–3 –3 –3 
↓ ↓ ↓ 
O R K 

 
Hence, option D is correct. 
 

2. 1st and 2nd or 3rd and 4th letter having interchange. 
Similarly, 
CXDW : XCWD 
Hence, option D is correct. 

 
3.  

S H I 
↓ ↓ ↓ 
–1 +1 +1 
↓ ↓ ↓ 
R I J 

, 
  

Q J K 
↓ ↓ ↓ 
–1 +1 +1 
↓ ↓ ↓ 
P K L 

 
Hence, option B is correct. 

  

1 2 3 4 5 6 7 8 9 10 

D D B C B A B C D C 
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4.  

H C M 
↓ ↓ ↓ 
–2 –2 –2 
↓ ↓ ↓ 
F A K 

 
Similarly, 

  
S G D 
↓ ↓ ↓ 
–2 –2 –2 
↓ ↓ ↓ 
Q E B 

 
Hence, option C is correct. 

 
 
5.  

B F G 
↓ ↓ ↓ 
+3 +3 +3 
↓ ↓ ↓ 
E I J 

 
Similarly, 

  
R V W 
↓ ↓ ↓ 
+3 +3 +3 
↓ ↓ ↓ 
U Y Z 

 
Hence, option B is correct. 

 
6.  

 
Letter at the first position becomes (K + 5) and takes the last position of the new word while all 
other letters shift one place from right to left. 
 
So, RWBR or  Option C  is the correct answer. 
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7. The relation between the word and the respective number is as follows:  
(Sum of the positions of letters from left end of the alphabet) - 1   
 

M - 13  T - 20 
I - 9  E - 5 
R - 18  R - 18 
R - 18 Similarly, R - 18 
O - 15  O - 15 
R - 18  R - 18 

 = 91   = 94 
⇒ 91 - 1 = 90  ⇒ 94 - 1 = 93 

 
Option B is hence the correct answer. 

 
8. Letter at first position becomes (R + 5) 

 
So, (C + 5) HAT. 
 

 
 
Hence, option C is correct. 

 
9.  

 
 
Hence, option D is correct. 
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10.  

 
 
Hence, option C is correct.  
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